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typedef struct queueStruct {
int *queuelist;
int head;

it tail; RATHI AL EEA

}queue"rype; ﬁ% kﬁt@%ﬁ'fﬁ ]
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ueueType™* createQueue(queueType *queue, int size)

g
{

queue = (queueType*)malloc(sizeof(queueType));

newQueue->queuelist = (int *)malloc(sizeof(int) * size);
e

/\waueue»head =-1; ‘
ewQueue->tail = -1;
head E2 tail 73 BIZ 11T

newQueue->size = size; BlegHE A OIS - —E9t

return newQueue; == o5
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int enqueue(queueType *queue, int value) ’%ﬁii IBHRZEZELNE
: 0 TR EECERT
if| (isFull(queue)){
return -1;

} tail 2SI ACMIE - FEitt ‘
qummﬂ R AR B tail ShE

ueue->queuelist[queue->tail] = value;

printf("head:%d, tail: %d, size: %d\n“,queue->head,queue->tail,queue->size);

return queue->tail;
0

élSd?ce _

7\

}




1[5 B 1EITSI - B IR—1E 18

BIRIBEHREZTEE
int dequeue(queueType *queue) THRESEEZR
{
it (isEmpty(queue)){ |
return -1;

} head 2Z&#HILOMNUE - FAIER
@ FRIE NI ERVE R Z A head JRE

clueue->head++;

printf("value: %d, head: %d, tail: %d, size: %d\n", queue->queuelList[queue->head], queue->head, queue->tail,

queue->size);
queue->queuelist[queue->head] = 0;
return queue->head;
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int isEmpty(queueType *queue)

{
return (quelue—>head == queue->tail) ? 1 : 0;
}
s ;l'8d'7ce = head & tail Z[F—
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int isFull(queueType *queue)

{
return (queIue->taiI >= queue->size-1) ? 1 :0; ‘
}
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void enqueue(queueMaster *queue, int value)

{

gueueNode *node = queue->tail;
node = (queueNode *) malloc(sizeof(queueNode));
node->next = NULL;
rode.sata  vale, £R22(75) - head £

a ’ | AA = -
if (queue->head == NULL) { ta|| Bl %IE%B?E rﬂ__l%ﬁ ED%
quiue->head = node; ‘l

quiue->tail = node;
} else {

qu]ue->tai|->next=node; FIEZS(TE| . FhIFEL

node->prev = queue->tail; Nt e
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ﬁdequeue(queueMaster *queue)
{

queueNode *node = queue->head;
if (isEmpty(queue)){

return -1;

} intf("[d ] value: %d\ de->data) %_/D\ﬁu_1 Eﬁ%ﬁ ,

prin equeue] value: %d\n", node->data); E o1 i =
if (queue->head == queue->tail) { head /E\i tall 2 %‘:’%B?E
guzue->head = NULL; rlﬂ NULL
guzue->tail = NULL;

}else {

gueue->head = node->next; ‘

gueue->head->prev = NULL; e o
} ETAES A
free(node); 322 head ARIIEIE

QO

return 1; _
} [
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int isEmpty(queueMaster *queue)

{

return (quIaue->head ==NULL) ?1:0; ‘

}

——0 = head = tail 5[0
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void freeQueue(queueMaster *queue)
{
gueueNode *currentNode = queue->head;
gueueNode *nextNode = NULL;
int count =0;
while(currentNode) {
nextNode = currentNode->next;
fre{a(currentNode);
count++;
currentNode = nextNode;

}

flee(queue); |
prin ree %d nodes\n", count);
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int getSize(queueMaster *queue) \
{
gqueueNode *node = queue->head;
int count = 0;
hile(node) { B # next 8@ NULL Ay -
ode = node->next; F—imfA T AN Rs - EojEY
ount++; STIANIEB 8=
}
return count; . J
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tail = (tail + 1) % queueSize
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